
MATHS

BOOKS - BEYOND PUBLICATION

TRIGONOMETRY

Example

1. If tan A  then find the other trigonometric ratio of

angle A.

Watch Video Solution

= ,
3

4

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ZsE4qUXw59Q7


2. If  are acute angles such that 

then prove that 

Watch Video Solution

∠A and ∠P sin A = sin P

∠A = ∠P

3. Consider a triangle PQR ,right at R ,in which PQ = 29 units

,QR =21 units and then find the values of 

(i) 

Watch Video Solution

∠PQR = θ,

cos2 θ + sin2 θ and (ii)cos2 θ − sin2 θ

4. Identify "Hypotenuse", "Opposite side" and "Adjacent side"

for the given angles in the given triangles.

https://dl.doubtnut.com/l/_FncJzMxWhaP7
https://dl.doubtnut.com/l/_VI5CutTv8QXH
https://dl.doubtnut.com/l/_s7VHUyQatLCe


For angle A 

Watch Video Solution

5. Identify "Hypotenuse", "Opposite side" and "Adjacent side"

for the given angles in the given triangles.

For angle X 

Watch Video Solution

6. Identify "Hypotenuse", "Opposite side" and "Adjacent side"

for the given angles in the given triangles.

https://dl.doubtnut.com/l/_s7VHUyQatLCe
https://dl.doubtnut.com/l/_X0fGpTdBHXtx
https://dl.doubtnut.com/l/_nTL3PsYz8Oyb


For angle Y 

Watch Video Solution

7. Identify "Hypotenuse", "Opposite side" and "Adjacent side"

for the given angles in the given triangles.

Find (i) sin C (ii) cos C (iii) tan C in the given triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_nTL3PsYz8Oyb
https://dl.doubtnut.com/l/_wQM5Qxh5FFXB


8. In triangle XYZ, is right angle , XZ =17cm and YZ =15 cm

then find 

(1) 

Watch Video Solution

∠Y

sin X(ii)cos Z(iii)tan X

9. In triangle XYZ, is right angle , XZ =17cm and YZ =15 cm

then find 

(1) 

Watch Video Solution

∠Y

sin X(ii)cos Z(iii)tan X

10. In triangle XYZ, is right angle , XZ =17cm and YZ =15

cm then find 

∠Y

https://dl.doubtnut.com/l/_CslZFS2pBM9V
https://dl.doubtnut.com/l/_7OTX9i0UqEa9
https://dl.doubtnut.com/l/_m5TMcjiOr0Wa


(1) 

Watch Video Solution

sin X(ii)cos Z(iii)tan X

11. In a triangle PQR with right angle at Q , the value of

, then find sin x and cos

x

Watch Video Solution

∠Pisx, PQ = 7cm and QR24cm

12. Write length of "Hypotenuse ","Opposite side "and

"Adjacent side "for the given angles in the given triangles.

1. For angle C 

https://dl.doubtnut.com/l/_m5TMcjiOr0Wa
https://dl.doubtnut.com/l/_axrr1LHrym9N
https://dl.doubtnut.com/l/_KVZXf824bi6u


2. For angle A 

Watch Video Solution

13. Write length of "Hypotenuse ","Opposite side "and

"Adjacent side "for the given angles in the given triangles.

1. For angle C 

https://dl.doubtnut.com/l/_KVZXf824bi6u
https://dl.doubtnut.com/l/_nVTvsrt1CZLx


2. For angle A 

Watch Video Solution

14. In a right angle triangle ABC, right angle is at C, BC+CA =

23 cm and BC-CA = 7cm ,then find sin A tan B

Watch Video Solution

15. What will be the ratio of sides for sec A and cot A ?

https://dl.doubtnut.com/l/_nVTvsrt1CZLx
https://dl.doubtnut.com/l/_WMhI5qbYiu9w
https://dl.doubtnut.com/l/_dB17A9xhOwao


Watch Video Solution

16. Discuss among your friends 

Does  exists for some value of angle?

Watch Video Solution

sin x =
4
3

17. Discuss among your friends 

The value of sin A and cos A is always less than 1, Why?

Watch Video Solution

18. Discuss among your friends 

tan A is product of tan and A

W t h Vid S l ti

https://dl.doubtnut.com/l/_dB17A9xhOwao
https://dl.doubtnut.com/l/_lxL0uEo7rqsK
https://dl.doubtnut.com/l/_DaRU9gQIPjOs
https://dl.doubtnut.com/l/_6kqmX4rCDVlW


Watch Video Solution

19. Is equal to tan A ?

Watch Video Solution

sin A

cos A

20. IS  equal to cot A ?

Watch Video Solution

cos A

sin A

21. In right angle triangle ABC, 8cm ,15 cm and 17 cm are the

length of AB,BC and CA respectively , Then find

Watch Video Solution

sin A, cos A and tan A.

https://dl.doubtnut.com/l/_6kqmX4rCDVlW
https://dl.doubtnut.com/l/_wYbomjfRKTxu
https://dl.doubtnut.com/l/_HT4zFTSxyyS7
https://dl.doubtnut.com/l/_25OTuj0NE1bW


22. The sides of a right angle triangle PQR are PQ = 7cm , PR

=25 cm and  respectively , Then find tan P -tan R

Watch Video Solution

∠Q = 90∘

23. In a right angle triangle ABC with right angle at B , in

which a= 24 units , b = 25 units and  then find

sin A tan A 

Watch Video Solution

∠BAC = θ,

(A < 90∘ )

24. If then find 

Watch Video Solution

cos A = ,
12

13
sin A and tan A(A < 90∘ )

https://dl.doubtnut.com/l/_IlHGcbMyp77K
https://dl.doubtnut.com/l/_T7xw6844zXWy
https://dl.doubtnut.com/l/_HiDpUERBpx0D
https://dl.doubtnut.com/l/_1HQ0feFTmEJN


25. If 3 tan A =4 ,then find sin A and cos A

Watch Video Solution

26. If  are acute angles such that 

 then prove that 

Watch Video Solution

∠A and ∠P

sin A = sin P ∠A = ∠P

27. Given , then evaluate


Watch Video Solution

cot θ =
7
8

(1 + sin θ)(1 − sin θ)

(1 + cos θ)(1 − cos θ)

https://dl.doubtnut.com/l/_1HQ0feFTmEJN
https://dl.doubtnut.com/l/_l8r4QReMDer3
https://dl.doubtnut.com/l/_GhaSd43uk5F6


28.  అయిన  లను కనుగొనుము.

Watch Video Solution

cot θ =
7
8

1 + sin θ

cos θ

29. In a right angle triangle ABC, right angle is at B if tan

 then find the value of Sin A cos C + cos a sin c

Watch Video Solution

A = √3

30. In a right angle triangle ABC, right angle is at B, if

, then find the value of

Watch Video Solution

tan A = √3

cos A cos C − sin A sin C

https://dl.doubtnut.com/l/_D5BjwMmlz7aB
https://dl.doubtnut.com/l/_lFvSB4wQDLU1
https://dl.doubtnut.com/l/_EqXSzFYEpKpk
https://dl.doubtnut.com/l/_ru7AqReOBjPN


31. In  , right angle is at B,AB = 5cm and 

 Determine the lengths of the sides BC and

AC.

Watch Video Solution

ΔABC

∠ACB = 30∘

32. A chord of a circle of radius 6cm is making an angle 

at the centre.Find the length of the chord.

Watch Video Solution

60∘

33. In  ,right angle is at Q,PQ =3cm and PR =6cm

Determine 

Watch Video Solution

ΔPQR

∠QPR and ∠PRQ

https://dl.doubtnut.com/l/_ru7AqReOBjPN
https://dl.doubtnut.com/l/_UNraRhKNiAAX
https://dl.doubtnut.com/l/_1SRAxayPApX0


34. sin (A-B) = , cos (A+B) = ,`0^(0)B` అయిన A మరియు B

విలువలు కనుక్కోండి.

Watch Video Solution

1

2

1

2

35. Find the values of cosec

Watch Video Solution

60∘ , sec 60∘ and cot 60∘

36. Find the values of

Watch Video Solution

sin 30∘ , cos 30∘ , tan 30∘ , cos ec30∘ , sec 30∘ and cot 30∘

https://dl.doubtnut.com/l/_1SRAxayPApX0
https://dl.doubtnut.com/l/_JAxoa3amK89v
https://dl.doubtnut.com/l/_AlaA5jqDSZF0
https://dl.doubtnut.com/l/_PaaPAeIUUpNS
https://dl.doubtnut.com/l/_7ERkQ3pb18jY


37. Find the values for tan

Watch Video Solution

90∘ , cos ec90∘ , sec 90∘ and cot 90∘

38. Discuss with your friends about the following

conditions: 

What can you say about  Is the defined

? Why ?

Watch Video Solution

cos ec0∘ = ?
1

sin 0∘

39. Discuss with your friends about the following

conditions: 

https://dl.doubtnut.com/l/_PaaPAeIUUpNS
https://dl.doubtnut.com/l/_WLmIoAZugC8P
https://dl.doubtnut.com/l/_k7BbaGZT8R1m


What can you say about Is it defined ?

Why ?

Watch Video Solution

cot 0∘ =
1

tan 0∘

40. Discuss with your friends about the following

conditions: 

Why?

Watch Video Solution

sec 0∘ = 1

41. What can you say about the values of sin A and cos A, as

the value of angle A increases from  to ?


, then . Is it true?

Watch Video Solution

0∘ 90∘

A > B sin A > sin B

https://dl.doubtnut.com/l/_k7BbaGZT8R1m
https://dl.doubtnut.com/l/_BgJXjFsP3wcl
https://dl.doubtnut.com/l/_T3CPQpp8dXJF


42. What can you say about the values of sin A and cos A, as

the value of angle A increases from  to ?


If , then . Is it true?Discuss.

Watch Video Solution

0∘ 90∘

A > B cos A > cos B

43. Evaluate the following 

Watch Video Solution

sin 45∘ + cos 45∘

44. Evaluate the following 

cos 45∘

sec 30∘ + cos ec60∘

https://dl.doubtnut.com/l/_T3CPQpp8dXJF
https://dl.doubtnut.com/l/_TZVKr0fCZ2YQ
https://dl.doubtnut.com/l/_Ypk3m5qUFGiB
https://dl.doubtnut.com/l/_RSyMXPNZl0lk


Watch Video Solution

45. Evaluate the following 

Watch Video Solution

sin 30∘ + tan 45∘ − cos ec60∘

cot 45∘ + cos 60∘ − sec 30∘

46. Evaluate the following 

Watch Video Solution

2 tan2 45∘ + cos2 30∘ − sin2 60∘

47. Evaluate the following 

W h Vid S l i

sec2 60∘ − tan2 60∘

sin2 30∘ + cos2 30∘

https://dl.doubtnut.com/l/_RSyMXPNZl0lk
https://dl.doubtnut.com/l/_WEy0cJX7ZcXT
https://dl.doubtnut.com/l/_yAy73FyA5Y3f
https://dl.doubtnut.com/l/_NfYigUxFoKa6


Watch Video Solution

48. The value of 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

=
2tan 30∘

1 + tan2 30∘

sin 60∘

cos 60∘

tan 30∘

sin 30∘

49.  = …………….
1 − tan2 45∘

1 + tan2 45∘

https://dl.doubtnut.com/l/_NfYigUxFoKa6
https://dl.doubtnut.com/l/_FbO0ODkcCi3b
https://dl.doubtnut.com/l/_MAGO7uXXfEW7


A. 

B. 1

C. 

D. 0

Answer:

Watch Video Solution

tan 90∘

sin 45∘

50. 

A. 

B. 

C. 

=
2tan 30∘

1 − tan2 30∘

cos 60∘

sin 60∘

tan 60∘

https://dl.doubtnut.com/l/_MAGO7uXXfEW7
https://dl.doubtnut.com/l/_ocivrtaYlVVH


D. 

Answer:

Watch Video Solution

sin 30∘

51. Evaluate  What is the

value of  What can you conclude ?

Watch Video Solution

sin 60∘ cos 30∘ − sin 30∘ cos 60∘ ,

sin(60∘ − 30∘ )

52. Is it right to say that

Watch Video Solution

cos(60∘ + 30∘ ) = cos 60∘ cos 30∘ − sin 60∘ sin 30∘

https://dl.doubtnut.com/l/_ocivrtaYlVVH
https://dl.doubtnut.com/l/_zRmKtzsbFODT
https://dl.doubtnut.com/l/_JGFmryNivUvy
https://dl.doubtnut.com/l/_FDwraxACFRjH


53. In right angle triangle  ,right angle at Q,PQ = 6cm

and  Determine the lengths of QR and PR.

Watch Video Solution

ΔPQR

∠RPQ = 60∘

54. In right angle is at Y,YZ =x, and XZ =2x Then

determine 

Watch Video Solution

ΔXY Z,

∠Y XZ and ∠Y ZX.

55. Is it right to say that  ?

Justify your answer.

Watch Video Solution

sin(A + B) = sin A + sin B

https://dl.doubtnut.com/l/_FDwraxACFRjH
https://dl.doubtnut.com/l/_RSOfH1OsY2fW
https://dl.doubtnut.com/l/_cxLydm5DO6bz
https://dl.doubtnut.com/l/_xDy2j3IQ6kYS


56. Evaluate 

Watch Video Solution

sec 35∘

cos ec55∘

57. If  , where 7A is an acute angle

,find the value of A .

Watch Video Solution

cos 7A = sin(A − 6∘ )

58. If  then prove that A+B 

Watch Video Solution

sin A = cos B, = 90∘

https://dl.doubtnut.com/l/_xDy2j3IQ6kYS
https://dl.doubtnut.com/l/_c7odL0tHQdU7
https://dl.doubtnut.com/l/_Q0yBfCgX4bg0


59. Express in terms of trigonometric

ratio of angles between 

Watch Video Solution

sin 81∘ + tan 81∘

0∘ and 45∘

60. If A , B and C are interior angles of triangle ABC ,then

show that sin 

Watch Video Solution

( ) =
B + C

2

cos(A)

2

61. For which value of an acute angle

is true ? 


For which value of  above equation is not

defined?

θ, (i) + = 4
cos θ

1 − sin θ

cos θ

1 + sin θ

0∘ ≤ θ ≤ 90∘ ,

https://dl.doubtnut.com/l/_M38VURlv2tI1
https://dl.doubtnut.com/l/_3GJaWcHyAO4N
https://dl.doubtnut.com/l/_vYi4p59K4r9c


Watch Video Solution

62. Check and discuss the above relations

 








,


,


,


in the case of angle between  and , whether they hold

for these angles or not ?So, 

Watch Video Solution

[sin(90∘ − x) = = cos x
AB

AC

cos(90∘ − x) = = sin x
BC

AC

tan(90∘ − x) = = cot x
AB

BC

cot(90∘ − x) = = tan x
BC

AB

cos ec(90∘ − x) = = sec x
AC

AB

sec(90∘ − x) = = cos ecx]
AC

BC

0∘ 90∘

sin(90∘ − A) = cos A

https://dl.doubtnut.com/l/_vYi4p59K4r9c
https://dl.doubtnut.com/l/_NkR99BDzuknp


63. Check and discuss the above relations

 








,


,


,


in the case of angle between  and , whether they hold

for these angles or not ?So, 

Watch Video Solution

[sin(90∘ − x) = = cos x
AB

AC

cos(90∘ − x) = = sin x
BC

AC

tan(90∘ − x) = = cot x
AB

BC

cot(90∘ − x) = = tan x
BC

AB

cos ec(90∘ − x) = = sec x
AC

AB

sec(90∘ − x) = = cos ecx]
AC

BC

0∘ 90∘

cos(90∘ − A) = sin A

https://dl.doubtnut.com/l/_EHvm2jGVhqEz


64. Check and discuss the below relations in the case of

angles between 0° and 90° , whether they hold for these

angles or not? `tan (90- A) = cot A

Watch Video Solution

65. Check and discuss the below relations in the case of

angles between 0° and 90° , whether they hold for these

angles or not? 

Watch Video Solution

cot(90 − A) = tan A

66. Check and discuss the above relations in the case of

angles between 0° and 90° , whether they hold for these

https://dl.doubtnut.com/l/_5WnYxDITQK5e
https://dl.doubtnut.com/l/_zCX57DaNfFHA
https://dl.doubtnut.com/l/_I6nW1GXgl1GL


angles or not? 

Watch Video Solution

cos ec(90∘ − A) = sec A

67. Check and discuss the above relations in the case of

angles between 0° and 90° , whether they hold for these

angles or not? 

Watch Video Solution

sec(90∘ − A) = cos ecA

68. Evaluate 

Watch Video Solution

tan 36∘

cot 54∘

https://dl.doubtnut.com/l/_I6nW1GXgl1GL
https://dl.doubtnut.com/l/_HcAtNuehnR52
https://dl.doubtnut.com/l/_a4vhf8lyDM0j


69. Evaluate 

Watch Video Solution

cos 12∘ − sin 78∘

70. Evaluate 

Watch Video Solution

cos ec31∘ − sec 59∘

71. Evaluate 

Watch Video Solution

sin 15∘ sec 75∘

https://dl.doubtnut.com/l/_atzQ4DpYUICI
https://dl.doubtnut.com/l/_ywKVNKQSBYQs
https://dl.doubtnut.com/l/_GAv2CXs4h9MD
https://dl.doubtnut.com/l/_8NGLoofSn0Yl


72. Evaluate 

Watch Video Solution

tan 26∘ tan 64∘

73. Show that 

Watch Video Solution

tan 48∘ tan 16∘ tan 42∘ tan 74∘ = 1

74. Show that 

Watch Video Solution

cos 36∘ cos 54∘ − sin 36∘ sin 54∘ = 0

https://dl.doubtnut.com/l/_8NGLoofSn0Yl
https://dl.doubtnut.com/l/_emUAW6CHnnfd
https://dl.doubtnut.com/l/_oOrBQ8oC8qOI
https://dl.doubtnut.com/l/_Js9F7J24GmYm


75. If tan 2A  where 2A is an acute angle ,

Find the value of A .

Watch Video Solution

= cot(A − 18∘ )

76. If tan A  where A and B are acute angles prove

that 

Watch Video Solution

= cot B

A + B = 90∘

77. If A , B and C are interior angles of a triangle ABC, then

show that 

Watch Video Solution

tan( ) = cot C /(2)
A + B

2

https://dl.doubtnut.com/l/_Js9F7J24GmYm
https://dl.doubtnut.com/l/_eOVy0Rk4ojMB
https://dl.doubtnut.com/l/_Uol0NPmiIJqA
https://dl.doubtnut.com/l/_pFyvY5Me9VX2


78. Expression  in terms of trigonometric

ratios of angles between 

Watch Video Solution

sin 75∘ + cos 65∘

0∘ and 45∘

79. Show that 

Watch Video Solution

cot θ + tan θ = sec θ cos ecθ

80. Show that 

Watch Video Solution

tan2 θ + tan4 θ = sec4 θ − sec2 θ

81.  నిరూపించండి.√ = cosec θ + cot θ
1 + cos θ

1 − cos θ

https://dl.doubtnut.com/l/_pFyvY5Me9VX2
https://dl.doubtnut.com/l/_s4mY12rwUllu
https://dl.doubtnut.com/l/_7PVONiIK9oI3
https://dl.doubtnut.com/l/_iUqE3GG7Itmi


Watch Video Solution

82. If then find 

Watch Video Solution

sin C = ,
15

17
cos C,

83. If  then find sec x.

Watch Video Solution

tan x = ,
5

12

84. If  then find 

Watch Video Solution

cos ecθ = ,
25

7
cot θ

https://dl.doubtnut.com/l/_iUqE3GG7Itmi
https://dl.doubtnut.com/l/_nTJ7emmjR0kH
https://dl.doubtnut.com/l/_4X8D2B6nAOVO
https://dl.doubtnut.com/l/_jfuwGSvdAdfH


85. Evaluate the following and justify your answer. 

(i) 

Watch Video Solution

sin2 15∘ + sin2 75∘

cos2 36∘ + cos2 54∘

86. Find 

Watch Video Solution

sin 5∘ cos 85∘ + cos 5∘ sin 85∘

87. Find 

Watch Video Solution

sec 16∘ cos ec74∘ − cot 74∘ tan 16∘

https://dl.doubtnut.com/l/_s8oDyjh06gM7
https://dl.doubtnut.com/l/_rv955kbmPbmJ
https://dl.doubtnut.com/l/_CAyrkZZb0g6n


88. Are these identities true only for  If not

,for which other values of A they are true ? 

Watch Video Solution

0∘ ≤ A ≤ 90∘ ?

sec2 A − tan2 A = 1                    cos ec2A − cot2 A = 1

89. Are these identities true only for  If not

,for which other values of A they are true ? 

Watch Video Solution

0∘ ≤ A ≤ 90∘ ?

sec2 A − tan2 A = 1                    cos ec2A − cot2 A = 1

90. Evaluate the following 

(1 + tan θ + sec θ)(1 + cot θ − cos ecθ)

https://dl.doubtnut.com/l/_g2gzE3CdWl3V
https://dl.doubtnut.com/l/_IZbdgUQzs1j3
https://dl.doubtnut.com/l/_XzmO5asoK86k


Watch Video Solution

91. Evaluate the following : 

Watch Video Solution

(sin θ + cos θ)2 + (sin θ − cos θ)2

92. Evaluate the following : 

Watch Video Solution

(sec2 θ − 1)(cos ec2θ − 1)

93. Show that 

Watch Video Solution

(cos ecθ − cot θ)
2

=
1 − cos θ

1 + cos θ

https://dl.doubtnut.com/l/_XzmO5asoK86k
https://dl.doubtnut.com/l/_OCSTSukoPkXL
https://dl.doubtnut.com/l/_jVuwxVjysJ6L
https://dl.doubtnut.com/l/_zsD7Feg3xbCj


94. 

Watch Video Solution

√ =
1 + sin A

1 − sin A

95. Show that 

Watch Video Solution

= tan2 A
1 − tan2 A

cot2 A − 1

96. Show that 

Watch Video Solution

− cos θ = tan θ. sin θ
1

cos θ

97. Simplify sec A (1 − sin A)(sec A + tan A)

https://dl.doubtnut.com/l/_zsD7Feg3xbCj
https://dl.doubtnut.com/l/_aSLBmWLp9Qmj
https://dl.doubtnut.com/l/_myNyxQIH3HxM
https://dl.doubtnut.com/l/_jNjg0kDx3LAw
https://dl.doubtnut.com/l/_pMCQge08RWuK


Watch Video Solution

98. Prove that

Watch Video Solution

(sin A + cos ecA)2 + (cos A + sec A)2 = 7 + tan2 A + cot2 A

99. Simplify 

Watch Video Solution

(1 − cos θ)(1 + cos θ)(1 + cot2 θ).

100. If  then what is the value of 

?

Watch Video Solution

sec θ + tan θ = p,

sec θ − tan θ

https://dl.doubtnut.com/l/_pMCQge08RWuK
https://dl.doubtnut.com/l/_nBsAltRo9kAm
https://dl.doubtnut.com/l/_kg1VfgrgtoZm
https://dl.doubtnut.com/l/_GG7VAcFmiIGB


101. If  then prove that 

Watch Video Solution

cos ecθ + cot θ = k, cos θ =
k2 − 1

k2 + 1

102. Prove that 

Watch Video Solution

=
cot θ − cos θ

cot θ + cos θ

cos ecθ − 1

cos ecθ + 1

103.  =

Watch Video Solution

1/sec θ − tan θ

https://dl.doubtnut.com/l/_GG7VAcFmiIGB
https://dl.doubtnut.com/l/_TlExh38RzJgA
https://dl.doubtnut.com/l/_krlInQJ20QBZ
https://dl.doubtnut.com/l/_qnxwPF1GaXV9


104. Prove that

Watch Video Solution

(cos ecA − sin A)(sec A − cos A) =
1

tan A + cot A

105. Prove that 

Watch Video Solution

=
1 + sec A

sec A

sin2 A

1 − cos A

106. Show that 

Watch Video Solution

( ) = ( )
2

= tan2 A
1 + tan2 A

1 + cot2 A

1 + tan

1 − cot A

107. Prove that = ( )
(sec A − 1)

(sec A + 1)

1 − cos A

(1 + cos A)

https://dl.doubtnut.com/l/_Fr9VkgVIRaie
https://dl.doubtnut.com/l/_WRLycgujjCYD
https://dl.doubtnut.com/l/_Y20BlNV4Wx25
https://dl.doubtnut.com/l/_HPulB9p3CG8l


Watch Video Solution

108. In a right angled triangle ABC, with right angle at B in

which a = 5 units, b = 13 units and  = , then find 

and .

Watch Video Solution

∠BCA θ sin θ

tan θ

109. If Cos c = 3/5, then find Sin c and Tan c.

Watch Video Solution

110. If 3 tan A =4 ,then find sin A and cos A

Watch Video Solution

https://dl.doubtnut.com/l/_HPulB9p3CG8l
https://dl.doubtnut.com/l/_WMt2bV0Ta0mP
https://dl.doubtnut.com/l/_FjCq3heDk0pn
https://dl.doubtnut.com/l/_Yxj4V4hosVna


111. If 5 Cot A = 12, find Cos A and Cosec A.

Watch Video Solution

112. Evaluate the following:

Watch Video Solution

sin 60∘ + cos 60∘

113. Evaluate the following:

Watch Video Solution

sin 45

sin 30 + cos 60

https://dl.doubtnut.com/l/_Yxj4V4hosVna
https://dl.doubtnut.com/l/_9yHQbeeh6kgk
https://dl.doubtnut.com/l/_fWeenZr4bLpv
https://dl.doubtnut.com/l/_JeU3Cck4tE5V
https://dl.doubtnut.com/l/_faLJyE51HEp6


114. Evaluate the following:

Watch Video Solution

tan2 30∘ + cot2 45∘ − cos 60

115. Evaluate the following:

Watch Video Solution

2 tan2 45∘ + sin2 60∘ − cos2 30∘

116. Evaluate the following:

Watch Video Solution

cot2 30∘ + 4 sin2 45∘ + 3 cos ec60∘

https://dl.doubtnut.com/l/_faLJyE51HEp6
https://dl.doubtnut.com/l/_KYxscnUPNgdD
https://dl.doubtnut.com/l/_OdJ0eJUpr5SU
https://dl.doubtnut.com/l/_f2dUB9I0TiDb


117. Evaluate the following:

Watch Video Solution

√2. sin 45∘ + cos 90∘ + sin 90∘

118. Evaluate  What is the

value of  What can you conclude ?

Watch Video Solution

sin 60∘ cos 30∘ − sin 30∘ cos 60∘ ,

sin(60∘ − 30∘ )

119. Is it right to say that

Watch Video Solution

cos(60∘ + 30∘ ) = cos 60∘ cos 30∘ − sin 60∘ sin 30∘

https://dl.doubtnut.com/l/_f2dUB9I0TiDb
https://dl.doubtnut.com/l/_k8iHyhF7i7IU
https://dl.doubtnut.com/l/_3r2kbe0EBwUu
https://dl.doubtnut.com/l/_Fer2jkprKBW0


120. Is it right to say that  ?

Justify your answer.

Watch Video Solution

sin(A + B) = sin A + sin B

121. Evaluate 

Watch Video Solution

sin 66

cos 24

122. Evaluate 

Watch Video Solution

sin 18

cos 72

https://dl.doubtnut.com/l/_Fer2jkprKBW0
https://dl.doubtnut.com/l/_iIECqw5z84l3
https://dl.doubtnut.com/l/_nh7KPoDfgnwF


123. Evaluate 

Watch Video Solution

tan 80

cot 10

124. Evaluate 

Watch Video Solution

sec 69

cos ec21

125. Evaluate 

Watch Video Solution

tan 54
cot 36

https://dl.doubtnut.com/l/_JTLVuly0Wy6A
https://dl.doubtnut.com/l/_oBrzznNEzAVL
https://dl.doubtnut.com/l/_XEjMWzSXKbMR
https://dl.doubtnut.com/l/_GMY4SajaqZLW


126. Find the value of 

Watch Video Solution

sin 75∘ − cos 15∘

127. Find the value of 

Watch Video Solution

sec 23∘ − cos ec67∘

128. Find the value of 

Watch Video Solution

cos ec70∘ − sec 20∘

https://dl.doubtnut.com/l/_GMY4SajaqZLW
https://dl.doubtnut.com/l/_q59B9HUusXpe
https://dl.doubtnut.com/l/_btX1ke9AoocN
https://dl.doubtnut.com/l/_UYmfkvynoqpZ


129. Find the value of 

Watch Video Solution

tan 68∘ − cot 22∘

130. If Cot 2A = Tan (A - 18), when 2A is an acute anlge, find

the value of A.

Watch Video Solution

131. If Cos 4A = Sin(A - 20), when 4A is an acute angle, find

the value of A.

Watch Video Solution

https://dl.doubtnut.com/l/_UYmfkvynoqpZ
https://dl.doubtnut.com/l/_ueg8wulsB7La
https://dl.doubtnut.com/l/_cBkSYjF16IiW
https://dl.doubtnut.com/l/_v3RntHNX5bcO


132. If  = 2, find the value of .

Watch Video Solution

sin θ + cos ecθ sin2 θ + cos ec2θ

133. Show that = Tan A. Cot B.

Watch Video Solution

tan A + cot B

tan B + cot A

134. Show that = 

Watch Video Solution

(sin θ + cos θ)2 − (sin θ − cos θ)2

4 sin θ cos θ

135. Find the value of

tan2 60 + 4 sin2 45 + 3 sec2 30 + 10 cos2 90

cos ec260 + cos 60 − cot2 60

https://dl.doubtnut.com/l/_v3RntHNX5bcO
https://dl.doubtnut.com/l/_q0mA0DcUBaQw
https://dl.doubtnut.com/l/_0uTlBQ7ferTr
https://dl.doubtnut.com/l/_Nyod9zR3msCD


Watch Video Solution

136. Show that  = 

Watch Video Solution

− sin θ
1

sin θ
cot θ. cos θ

137. Show that = 

Watch Video Solution

tan2 θ

1 + sec θ

1 − cos θ

cos θ

138. Evaluate:

Watch Video Solution

log4 (1 + tan2 45∘ )
2

https://dl.doubtnut.com/l/_Nyod9zR3msCD
https://dl.doubtnut.com/l/_gTcLlM5w9USj
https://dl.doubtnut.com/l/_kYX4SDf8gdUc
https://dl.doubtnut.com/l/_t3ClWHVSnchG


139. Is it true to say that = 

Watch Video Solution

cos(60∘ + 30∘ )

cos 60∘ cos 30∘ + sin 60∘ sin 30∘

140. In ,  If BC + CA = 17 cm, BC - CA = 7

cm. Find 

Sin A

Watch Video Solution

△ ABC ∠C = 90∘

141. 

Watch Video Solution

cos2 1∘ + cos2 2∘ + cos2 3∘ + .... + cos2 90∘ =

https://dl.doubtnut.com/l/_bEcPHPYtVjAh
https://dl.doubtnut.com/l/_deKHETZw7vaQ
https://dl.doubtnut.com/l/_9F2HaMbQGTG3
https://dl.doubtnut.com/l/_BMhJrYKa9Udy


142. If  then prove that 

Watch Video Solution

cos ecθ + cot θ = k, cos θ =
k2 − 1

k2 + 1

143. If sin A = cos A then find the value of A.

Watch Video Solution

144. If  = 0 then find  also,Find the

value of 

Watch Video Solution

4 sin2 θ − 1 θ(θ < 90)

cos2 θ + tan2 θ

145. Show that = -1tan2 θ − ( )
1

cos2 θ

https://dl.doubtnut.com/l/_BMhJrYKa9Udy
https://dl.doubtnut.com/l/_cmTlHcCSfqPO
https://dl.doubtnut.com/l/_hYrNwbdySczj
https://dl.doubtnut.com/l/_TOQhwDFYnEgV


Watch Video Solution

146. Find the value of

Watch Video Solution

( ) + ( ) − ( )
sec 15o

cos ec75o

sin 72o

cos 18o

tan 33o

cot 57o

147. If  =   then find the value of 

.

Watch Video Solution

tan θ √3 (θisacute∠)

1 + cos θ

148. Show that = .

Watch Video Solution

√
1 − sin θ

1 + sin θ
sec θ − tan θ

https://dl.doubtnut.com/l/_TOQhwDFYnEgV
https://dl.doubtnut.com/l/_YUeOilr2drm2
https://dl.doubtnut.com/l/_1uJekGWDGV5D
https://dl.doubtnut.com/l/_x9MC0Zon3G2g


149. tan (A + B) =1 మరియు

 అయితే A

మరియు B ల విలువలు కనుక్కోండి.

Watch Video Solution

cos(A − B) = , 00 < A + B < 90, A > B
√3

2

150. Evaluate 

Watch Video Solution

tan2 60 + 4 cos2 45 + 3 sec2 30 + 5 cos2 90

cos ec30 + sec 60 − cot2 30

151. If  then find tan A, cot A, cosec A.

Watch Video Solution

sin A =
4

5

https://dl.doubtnut.com/l/_x9MC0Zon3G2g
https://dl.doubtnut.com/l/_VQZXbphR5ptt
https://dl.doubtnut.com/l/_OsvALgXupaDN
https://dl.doubtnut.com/l/_PhiBrTVDBqKX


152. If  then find the cosecA , tan A, Sec A.

Watch Video Solution

cot A =
5

7

153.  value is……..

Watch Video Solution

cos 60∘ + sin 30∘

154. Find the value of 

Watch Video Solution

tan 45∘ + cot 45 − sec 60∘

155. Find the value of .

Watch Video Solution

3 sin 45
2 tan 30

https://dl.doubtnut.com/l/_GRH5uFtVwGls
https://dl.doubtnut.com/l/_gmeHcuaGGVse
https://dl.doubtnut.com/l/_idvB7AqyEHMF
https://dl.doubtnut.com/l/_b3Mm8EdxCJqr


156. Find the value of 

Watch Video Solution

2tan 30∘ +
cos 45∘

2cot 45∘

157. Value of 

Watch Video Solution

cos 18∘ − sin 72∘

158. Value of 

Watch Video Solution

tan 35∘ − cot 55∘

159. If  then find the value of sin A.cos A =
3

4

https://dl.doubtnut.com/l/_b3Mm8EdxCJqr
https://dl.doubtnut.com/l/_7kNuyfaXiORd
https://dl.doubtnut.com/l/_yNI16I4Er7Lv
https://dl.doubtnut.com/l/_ZirombCijsAi
https://dl.doubtnut.com/l/_br4MsuGZvyzK


Watch Video Solution

160. If  then find the value of cot A.

Watch Video Solution

cos ecA =
5

4

161. Prove that 

Watch Video Solution

= ( )
(sec A − 1)

(sec A + 1)

1 − cos A

(1 + cos A)

162. Show that =

Watch Video Solution

cos ecA − 1

cos ecA + 1

1 − sin A

1 + sin A

https://dl.doubtnut.com/l/_br4MsuGZvyzK
https://dl.doubtnut.com/l/_p0ufTHlfWnO0
https://dl.doubtnut.com/l/_WVJwUwqyaCOF
https://dl.doubtnut.com/l/_KlvCP3DpdeZ8


163. Show that 

Watch Video Solution

( ) = ( )
2

= tan2 A
1 + tan2 A

1 + cot2 A

1 + tan

1 − cot A

164. Show that =

Watch Video Solution

cos ecA − 1

cos ecA + 1

1 − sin A

1 + sin A

165. If  = then find .

Watch Video Solution

sin θ
p

q
tan θ

166. If  and  where is an acute

angle, then the value of ‘p’ is

cos ecθ = 2 cot θ = (√3)p θ

https://dl.doubtnut.com/l/_teNbanXBZd54
https://dl.doubtnut.com/l/_cnsb0Hab19r3
https://dl.doubtnut.com/l/_98jBE8LFvShV
https://dl.doubtnut.com/l/_GV6aXZ5XxMLG


Watch Video Solution

167. If  =  then find the value of 


Watch Video Solution

tan θ
7
8

(1 + sin θ)(1 − sin θ)

(1 + cos θ)(1 − cos θ)

168. If  and ‘A’ is acute then the value of

A is

Watch Video Solution

tan2 45∘ = sin2 A
1

2

169. If  = 1 then find the value of 

Watch Video Solution

tan θ
5 sin θ + 4 cos θ

5 sin θ − 4 cos θ

https://dl.doubtnut.com/l/_GV6aXZ5XxMLG
https://dl.doubtnut.com/l/_unsa9i2UBPNO
https://dl.doubtnut.com/l/_7lhMG8K6iLmV
https://dl.doubtnut.com/l/_Pw3Zuep0YS8x


170. If =  then find the .

Watch Video Solution

sin θ
12

13
cot θ

171.  అయిన =

Watch Video Solution

tan θ =
1

√3
cos θ

172. 5 sin A = 3 అయిన =

Watch Video Solution

sec2 A − tan2 A

173. Find the value of .3 sin2 45∘ + 2 cos2 60∘

https://dl.doubtnut.com/l/_Pw3Zuep0YS8x
https://dl.doubtnut.com/l/_7qVxueAbWn2p
https://dl.doubtnut.com/l/_hW87VaO1pTsm
https://dl.doubtnut.com/l/_BxtNSfcGL797
https://dl.doubtnut.com/l/_Ieu15x4TIU5f


Watch Video Solution

174. Value of 

Watch Video Solution

cos 240∘

175. If sin(A - B) = , cos (A+B) =  then find 'B' value.

Watch Video Solution

1

2

1

2

176. In right angle  then

the length of hypotenuse is .

Watch Video Solution

△ ABC, ∠B = 90∘ , tan c =
5

12

https://dl.doubtnut.com/l/_Ieu15x4TIU5f
https://dl.doubtnut.com/l/_jqDxijSaJkvj
https://dl.doubtnut.com/l/_mIxcUeH93TUo
https://dl.doubtnut.com/l/_JpLiZiaZMJTh
https://dl.doubtnut.com/l/_OQe5ri63xX82


177. =

Watch Video Solution

tan θ.
√1 − sin2 θ

√1 − cos2 θ

178. If  = k then find the .

Watch Video Solution

sin θ. cos θ sin θ + cos θ

179. If  = 5, then 

Watch Video Solution

3 cot θ
5 sin θ − 3 cos θ

5 sin θ + 3 cos θ

180.  =

Watch Video Solution

√cos ec2θ − sin2
θ − cos2 θ

https://dl.doubtnut.com/l/_OQe5ri63xX82
https://dl.doubtnut.com/l/_9n9bReggI3Dl
https://dl.doubtnut.com/l/_Yn9cxVUZ2ZRE
https://dl.doubtnut.com/l/_eoxLqqWFoBnX


Watch Video Solution

181. If 

Watch Video Solution

sin θ + sin2
θ = 1,  then cos2 θ + cos4 θ =

182.  యొక్క విలువ

Watch Video Solution

cos 10. cos 20. cos 30…. cos 1800

183. Find the values of  , , .

Watch Video Solution

sec 240∘ tan 750∘ cos ec300∘

https://dl.doubtnut.com/l/_eoxLqqWFoBnX
https://dl.doubtnut.com/l/_hXmjcDnZaabA
https://dl.doubtnut.com/l/_Xj0FlAGj02ZV
https://dl.doubtnut.com/l/_BHv9ikDBaOoR


184. Find the value of 

Watch Video Solution

sin4 θ − cos4 θ

sin2 θ − cos2 θ

185. If  =  then find  value.

Watch Video Solution

sec θ + tan θ
1

2
sin θ

186.  /  value.

Watch Video Solution

tan 26∘ cot 64∘

187. =

Watch Video Solution

1/1 − sin θ + 1/1 + sin θ

https://dl.doubtnut.com/l/_c4h3NNaVG7zo
https://dl.doubtnut.com/l/_2jWTZw7kwUP1
https://dl.doubtnut.com/l/_SDYNQjBv707g
https://dl.doubtnut.com/l/_sHKPqOF2jTXY


Exercise

188. Find the value of 

Watch Video Solution

tan 75∘

189. =

Watch Video Solution

sin 240∘ + sin 120∘

1. In right angle triangle ABC, 8cm ,15 cm and 17 cm are the

length of AB,BC and CA respectively , Then find

sin A, cos A and tan A.

https://dl.doubtnut.com/l/_sHKPqOF2jTXY
https://dl.doubtnut.com/l/_f2dfQoqxGZjz
https://dl.doubtnut.com/l/_I150cbSUbmoD
https://dl.doubtnut.com/l/_K9MR2Ef5ssrm


Watch Video Solution

2. In a right angle triangle ABC with right angle at B , in

which a= 24 units , b = 25 units and  then find

sin A tan A 

Watch Video Solution

∠BAC = θ,

(A < 90∘ )

3. If then find 

Watch Video Solution

cos A = ,
12

13
sin A and tan A(A < 90∘ )

4. If 12 tan A = 5, then find sin A and cos A.

Watch Video Solution

https://dl.doubtnut.com/l/_K9MR2Ef5ssrm
https://dl.doubtnut.com/l/_0sigBSp4mLQw
https://dl.doubtnut.com/l/_EhguSdsXiCew
https://dl.doubtnut.com/l/_XRRBBa1DGDY5


5. If 15 cot A = 8, find sin A and sec A.

Watch Video Solution

6. If  are acute angles such that 

then prove that 

Watch Video Solution

∠A and ∠P sin A = sin P

∠A = ∠P

7. If  find the value of 

Watch Video Solution

= x,
2 sin θ

1 + cos θ + sin θ
1 − cos θ + sin θ

1 + sin θ

https://dl.doubtnut.com/l/_XRRBBa1DGDY5
https://dl.doubtnut.com/l/_794PogYykY0I
https://dl.doubtnut.com/l/_wzyE3dYcnGIu
https://dl.doubtnut.com/l/_FQFBaptMJ4QJ
https://dl.doubtnut.com/l/_5UGXqhvZutRO


8. If  = , find  +  in terms of a and b.

Watch Video Solution

sin θ
a

b
sec θ tan θ

9. If 3 cot A = 4, check whether /  =

 or not.

Watch Video Solution

(1 − tan2 A) (1 + tan2 A)

cos2 A − sin2 A

10. Evaluate the following:

.

Watch Video Solution

tan 45∘ . cos 30∘ . cos ec60∘

https://dl.doubtnut.com/l/_5UGXqhvZutRO
https://dl.doubtnut.com/l/_cns53LiJiBY4
https://dl.doubtnut.com/l/_cnJCq6uWVIl4


11. Evaluate the following:

 +  - 

Watch Video Solution

tan2 60∘ cot2 45∘ sin 30∘

12. Evaluate the following:

 +  - .

Watch Video Solution

sin 30∘ cos2 30∘ cot2 45∘

13. విలువ

Watch Video Solution

cos 00 + sin 900 + √2sin 450

https://dl.doubtnut.com/l/_x6HJe1Is5RmS
https://dl.doubtnut.com/l/_IktmbePkE01l
https://dl.doubtnut.com/l/_mWAUQpaIW9Qu


14. Evaluate the following:

 + .

Watch Video Solution

tan2 60∘ 2 tan2 45∘

15. Evaluate the following:

 +  + .

Watch Video Solution

tan2 60∘ 4 cos2 45∘ 3 sec2 30∘

16. Evaluate  What is the

value of  What can you conclude ?

Watch Video Solution

sin 60∘ cos 30∘ − sin 30∘ cos 60∘ ,

sin(60∘ − 30∘ )

https://dl.doubtnut.com/l/_Nj9jPlWKd0Cn
https://dl.doubtnut.com/l/_R3lXChJbepHm
https://dl.doubtnut.com/l/_2ExwFKiuQk8N
https://dl.doubtnut.com/l/_lfK62aoQrykP


17. Is it right to say  = . 

?

Watch Video Solution

cos(60∘ − 30∘ ) cos 60∘

cos 30∘ + sin 60∘ . sin 30∘

18. Is it right to say that cos(A + B) = cos A + cos B. Justify

your answer.

Watch Video Solution

19. In a right angled triangle ABC, right angled at B, 

= , AB = 4 cm and BC = 2 cm. 

Find the value of  and .

Watch Video Solution

∠ACB

θ

sin θ tan θ

https://dl.doubtnut.com/l/_lfK62aoQrykP
https://dl.doubtnut.com/l/_CCId4oCcE2sL
https://dl.doubtnut.com/l/_ncZlz78hWquF


20. In a right angled triangle ABC, right angled at C, if tan A

= 1, then verify that 2 sin A. cos A = 1.

Watch Video Solution

21. Evaluate:

Watch Video Solution

sin 24
cos 66

22. Evaluate:

Watch Video Solution

cos 18

sin 72

https://dl.doubtnut.com/l/_toIxEznblmVu
https://dl.doubtnut.com/l/_24hYA9vMSApw
https://dl.doubtnut.com/l/_q48tK19RmO6l
https://dl.doubtnut.com/l/_hvhnw4lBL4TR


23. Evaluate:

Watch Video Solution

sin 35

cos 55

24. Evaluate:

Watch Video Solution

tan 10

cot 80

25. Evaluate:

 / 

Watch Video Solution

sec 21 cos ec69

https://dl.doubtnut.com/l/_hvhnw4lBL4TR
https://dl.doubtnut.com/l/_7K3LOwTI0NV9
https://dl.doubtnut.com/l/_tFBJrZjpMYmj
https://dl.doubtnut.com/l/_yCqBaQopAmPH


26. =

Watch Video Solution

cos 15∘ − cos 75∘

27. 

Watch Video Solution

cos ec23∘ − sec 67∘

28. 

Watch Video Solution

sec 70∘ . sin 20∘ − cos 70∘ . cos ec20∘

29. 

Watch Video Solution

tan 22∘ − tan 68∘

https://dl.doubtnut.com/l/_yCqBaQopAmPH
https://dl.doubtnut.com/l/_uoX1qasUi81X
https://dl.doubtnut.com/l/_h6IwcxQeznNf
https://dl.doubtnut.com/l/_t1Jv1ROcoEhV


30. If sec 4A = , where 4A is an acute angle,

find the value of A.

Watch Video Solution

cos ec(A − 20∘ )

31. Express:

 in terms of angles between  and .

Watch Video Solution

sin 67∘ + cos 75∘ 0∘ 45∘

32. Express:

 in terms of angles between  and 

.

Watch Video Solution

sec 76∘ + cos ec52∘ 0∘ 45∘

https://dl.doubtnut.com/l/_t1Jv1ROcoEhV
https://dl.doubtnut.com/l/_gFsKcRFsxy03
https://dl.doubtnut.com/l/_WgsPshx6FnBY
https://dl.doubtnut.com/l/_xuETKYLdvMqX


33. Express:

 in terms of angles between  and 

Watch Video Solution

tan 65∘ + cot 49∘ 0∘ 45∘

34. If A , B and C are interior angles of triangle ABC ,then

show that sin 

Watch Video Solution

( ) =
B + C

2

cos(A)

2

35. If A , B and C are interior angles of triangle ABC ,then

show that sin 

Watch Video Solution

( ) =
B + C

2

cos(A)

2

https://dl.doubtnut.com/l/_xuETKYLdvMqX
https://dl.doubtnut.com/l/_jH2GoxdUukpa
https://dl.doubtnut.com/l/_0QEjlFMMi8Nb
https://dl.doubtnut.com/l/_4jTOdKLUgzlB


Watch Video Solution

36. If  = 2, find the value of  + .

Watch Video Solution

tan θ + cot θ tan2 θ cot2 θ

37. Show that /  = cot A. tan

B.

Watch Video Solution

(cot A + tan B) (cot B + tan A)

38. 

Watch Video Solution

( )
2

=
1 + sin θ − cos θ

1 + sin θ + cos θ

https://dl.doubtnut.com/l/_4jTOdKLUgzlB
https://dl.doubtnut.com/l/_rSB82ruRp16D
https://dl.doubtnut.com/l/_t0uuSmsHZ5S0
https://dl.doubtnut.com/l/_Jih6OP1uwove
https://dl.doubtnut.com/l/_NmTnBYwCCO24


39. Show that  = 

Watch Video Solution

cot A − cos A

cot A + cos A

cos ecA − 1

1 + cos ecA

40. show that  = 

Watch Video Solution

1 + ( )
cot2 θ

1 + cos ecθ
cos ecθ

41. show that  = 

Watch Video Solution

1 + cos θ − sin2 θ

(1 + cos θ)sin θ
cot θ

42. Show that 

Watch Video Solution

+ = 2 sec θ
1 + sin θ

cos θ

cos θ

1 + sin θ

https://dl.doubtnut.com/l/_NmTnBYwCCO24
https://dl.doubtnut.com/l/_BEuv2yxhmVz1
https://dl.doubtnut.com/l/_eHi5GgJiGXxU
https://dl.doubtnut.com/l/_d5wWR58ZHi6g


43. Prove that  = 

Watch Video Solution

(1 + tan2 θ)cot θ

cos ec2θ
tan θ

44. Prove that  = 

Watch Video Solution

1 + sec θ

sec θ

sin2 θ

1 − cos θ

45. Prove that = sin A + cos A

Watch Video Solution

+
cos A

1 − tan A

sin A

1 − cot A

46. If = 4, then the value of  is5 tan θ
5 sin θ − 3 cos θ

5 sin θ + 3 cos θ

https://dl.doubtnut.com/l/_d5wWR58ZHi6g
https://dl.doubtnut.com/l/_CnrCSBVsrA9e
https://dl.doubtnut.com/l/_VEfskHm5SljM
https://dl.doubtnut.com/l/_4DMi8D95M14j
https://dl.doubtnut.com/l/_mR3KME19ExkE


A. 0

B. 1

C. 

D. 

Answer:

Watch Video Solution

1

7

2

7

47. The value of 

A. 

B. 

C. 

=
2tan 30∘

1 + tan2 30∘

sin 60∘

cos 60∘

tan 60∘

https://dl.doubtnut.com/l/_mR3KME19ExkE
https://dl.doubtnut.com/l/_1QY3qK3NLyNj


D. 

Answer:

Watch Video Solution

sin 30∘

48. The value of sin  is

A. 

B. 

C. 

D. 1

Answer:

Watch Video Solution

45∘ + cos 45∘

1

√2

√2

√3

2

https://dl.doubtnut.com/l/_1QY3qK3NLyNj
https://dl.doubtnut.com/l/_zzVStmztabP4


49.  is not defined when  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

tan θ θ

90∘

60∘

30∘

0∘

50. 

A. 

tan 135∘

1

√3

https://dl.doubtnut.com/l/_zzVStmztabP4
https://dl.doubtnut.com/l/_XZZT2LUTtaaD
https://dl.doubtnut.com/l/_m2vxipUsFXQj


B. 

C. 

D. 

Answer:

Watch Video Solution

√3

−√3

−1

51. sin (A-B) = , cos (A+B) = ,`0^(0)B` అయిన A మరియు B

విలువలు కనుక్కోండి.

A. 

B. 

C. 

D. 

1

2

1

2

60∘

15∘

30∘

45∘

https://dl.doubtnut.com/l/_m2vxipUsFXQj
https://dl.doubtnut.com/l/_WFeYU3G4MNQI


Answer:

Watch Video Solution

52. sin (A-B) = , cos (A+B) = ,`0^(0)B` అయిన A మరియు B

విలువలు కనుక్కోండి.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

2

1

2

15∘

−sin θ

sin θ

cos θ

https://dl.doubtnut.com/l/_0nvobqORHYyl


53. If  and , then  =

…………………

A. 1

B. 0

C. 

D. 2

Answer:

Watch Video Solution

α + β = 90∘ α = 2β cos2 α + sin2 β

1

2

54. 

A. 

cos2 0∘ + cos2 60∘ =

5

4

https://dl.doubtnut.com/l/_fqQvxMNqwnCv
https://dl.doubtnut.com/l/_pf8iREx7M22Z


B. 

C. 

D. 

Answer:

Watch Video Solution

2

√3

1

√2

√3

2

55. 

A. 

B. 

C. 

D. 

cot(270∘ − θ) =

−tan θ

tan θ

cot θ

−cot θ

https://dl.doubtnut.com/l/_pf8iREx7M22Z
https://dl.doubtnut.com/l/_u0901segG2fu


Answer:

Watch Video Solution

56.  = ……………

A. 

B. 1

C. 0

D. 2

Answer:

Watch Video Solution

1 − tan2 30∘

1 + tan2 30∘

1

2

https://dl.doubtnut.com/l/_u0901segG2fu
https://dl.doubtnut.com/l/_UoCi4EGorS6D


57. 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

cos6 θ + sin6 θ =

1 + sin3 θ cos3 θ

1 − 3 sin2 θ cos2 θ

1 − 3 sin3 θ cos3 θ

1 + 3 sin3 θ cos3 θ

58. =…………..

A. 1

B. 

cos 12 − sin 78

1

2

https://dl.doubtnut.com/l/_YacMPbM7dItr
https://dl.doubtnut.com/l/_FZiIbXU7HNyk


C. 0

D. -1

Answer:

Watch Video Solution

59. If  then 

A. 

B. 

C. 

D. 

Answer:

√3 tan θ = 1 θ =

60∘

90∘

45∘

30∘

https://dl.doubtnut.com/l/_FZiIbXU7HNyk
https://dl.doubtnut.com/l/_uVgC3UsD340c


Watch Video Solution

60. If  = , then =………

A. 1

B. -1

C. 5/4

D. 

Answer:

Watch Video Solution

sec θ + tan θ
1

2
sec θ

1

2

61. =cos(90 − θ)

https://dl.doubtnut.com/l/_uVgC3UsD340c
https://dl.doubtnut.com/l/_HrQX7bSdOzZD
https://dl.doubtnut.com/l/_VZ65HMSrnHGc


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

cos θ

tan θ

cos ecθ

sin θ

62. The value of 

A. 

B. 

C. 

sin2 60∘ − sin2 30∘

1

4

1

2

3

4

https://dl.doubtnut.com/l/_VZ65HMSrnHGc
https://dl.doubtnut.com/l/_MhWxmEefT3uQ


D. 

Answer:

Watch Video Solution

−
1

2

63. If  and  where is an acute

angle, then the value of ‘p’ is

A. 2

B. 1

C. 0

D. 

Answer:

h id l i

cos ecθ = 2 cot θ = (√3)p θ

√3

https://dl.doubtnut.com/l/_MhWxmEefT3uQ
https://dl.doubtnut.com/l/_aHFvgahKAXma


Watch Video Solution

64. If , when 2A is an acute angle,

then the measure of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

sec 2A = cos ec(A − 27)

∠A

35∘

37∘

39∘

21∘

https://dl.doubtnut.com/l/_aHFvgahKAXma
https://dl.doubtnut.com/l/_kqqmwil4rNf5


65. If P, Q and R are interior angle of a , then 

 equals

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

△ PQR

tan( )
P + Q

2

sin( )
R

2

cos( )
R

2

cot( )
R

2

R

2

66. If , then ‘x’ is

A. 60

sin(x − 20) ∘ = cos(3x − 10) ∘

https://dl.doubtnut.com/l/_sSvHgFID30nF
https://dl.doubtnut.com/l/_NKosfXV8Nmq4


B. 30

C. 45

D. 35.5

Answer:

Watch Video Solution

67.  యొక్క గరిష్ట  విలువ

A. 1

B. 2

C. 

D. 

, 0 ≤ θ ≤ 9001

sec θ

1

2

1

√2

https://dl.doubtnut.com/l/_NKosfXV8Nmq4
https://dl.doubtnut.com/l/_LvUBgJWkP2W9


Answer:

Watch Video Solution

68. The value of  is

A. 1

B. 

C. 0

D. -1

Answer:

Watch Video Solution

cos2 17∘ − sin2 73∘

1

3

https://dl.doubtnut.com/l/_LvUBgJWkP2W9
https://dl.doubtnut.com/l/_VqbmYHILikWi


69. If , then  equals

A. 

B. 

C. 

D. 1

Answer:

Watch Video Solution

A = 30∘ sin 2A

1

2

√3

2

1

√2

70. If  and ‘A’ is acute then the value of

A is

A. 

tan2 45∘ = sin2 A
1

2

60∘

https://dl.doubtnut.com/l/_rmzvhinLTDUV
https://dl.doubtnut.com/l/_Za4DVLedvQU6


B. 

C. 

D. 

Answer:

Watch Video Solution

45∘

30∘

15∘

71. =

A. 

B. 0

C. 1

D. 

sin(450 + θ) − cos(450 − θ)

sin θ

2 cos θ

https://dl.doubtnut.com/l/_Za4DVLedvQU6
https://dl.doubtnut.com/l/_nZniNpKlYShS


Answer:

Watch Video Solution

72. If , here  and  are acute angles, then

the value of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

cos 2θ = sin 4θ 2θ 4θ

θ

60∘

45∘

15∘

30∘

https://dl.doubtnut.com/l/_nZniNpKlYShS
https://dl.doubtnut.com/l/_4njRY5de85mC


73. From the below figure ON = x, PN = y and OP = r,

 =  and  = ,  = 


A. 

B. 

△ PON θ △ PON 90∘ sin θ

x

r

y

x

https://dl.doubtnut.com/l/_kjz4dXMTRzzi


C. 

D. 

Answer:

Watch Video Solution

r

x

y

r

74. =

A. 

B. 

C. 

D. 

Answer:

tan θ

x

y

y

x

r

x

r

y

https://dl.doubtnut.com/l/_kjz4dXMTRzzi
https://dl.doubtnut.com/l/_KHiaf665BCLa


Watch Video Solution

75. 

A. 75

B. 150

C. 

D. 1

Answer:

Watch Video Solution

sin2 75∘ + cos2 75∘ =

tan2 75∘

76. Evaluate the following : 

(sin θ + cos θ)2 + (sin θ − cos θ)2

https://dl.doubtnut.com/l/_KHiaf665BCLa
https://dl.doubtnut.com/l/_nljRun5R4fKL
https://dl.doubtnut.com/l/_5UvQcHmHdjDD


A. 

B. 2

C. 

D. 

Answer:

Watch Video Solution

2 sin2 θ + cos2 θ

2 sin2 θ + 4 cos2 θ

2 sin2 θ

https://dl.doubtnut.com/l/_5UvQcHmHdjDD


77. 


In ,  = ,  = . From the figure, =

A. 

B. 

C. 

D. 

Answer:

△ ABC ∠B 90∘ ∠C θ tan θ

8

17

15

8

8

15

17

15

https://dl.doubtnut.com/l/_ZAeta20lCKZN


Watch Video Solution

78. విలువ

A. 0

B. 

C. 4

D. 3

Answer:

Watch Video Solution

cos 00 + sin 900 + √2sin 450

2 + √2

79. Value of cos 240∘ =

https://dl.doubtnut.com/l/_ZAeta20lCKZN
https://dl.doubtnut.com/l/_ATpMnvTX5VX9
https://dl.doubtnut.com/l/_E1vmLeH8YnlT


A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

1

2

−
√3

2

−
1

2

80.  అయిన =

A. 4

B. 2

C. 6

tan θ + cot θ = 2 tan2 θ + cot2 θ

https://dl.doubtnut.com/l/_E1vmLeH8YnlT
https://dl.doubtnut.com/l/_Xfi60PyYZYsI


D. 1

Answer:

Watch Video Solution

81.  = …………..

A. 1

B. 2

C. 4

D. 16

Answer:

Watch Video Solution

(1 + tan2 60)
2

https://dl.doubtnut.com/l/_Xfi60PyYZYsI
https://dl.doubtnut.com/l/_h9OGo2vK0Itf


82. 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

cot(270∘ − θ) =

−cos θ

−sin θ

sin θ

cos θ

83. In right angle  then

the length of hypotenuse is .

△ ABC, ∠B = 90∘ , tan c =
5

12

https://dl.doubtnut.com/l/_h9OGo2vK0Itf
https://dl.doubtnut.com/l/_zenHSCEQAH9R
https://dl.doubtnut.com/l/_xLBo2fA1LJn1


A. 16

B. 13

C. 21

D. 17

Answer:

Watch Video Solution

84. 


If sin C = , then cos A =

A. 

3

5

3

5

https://dl.doubtnut.com/l/_xLBo2fA1LJn1
https://dl.doubtnut.com/l/_NG6lTNzYVNLg


B. 

C. 

D. 

Answer:

Watch Video Solution

4
5

5

4

5

3

85. 

A. 

B. 

C. 

D. 

cot(270∘ − θ) =

−tan θ

tan θ

cot θ

−cot θ

https://dl.doubtnut.com/l/_NG6lTNzYVNLg
https://dl.doubtnut.com/l/_jI4jrHjfxtf9


Answer:

Watch Video Solution

86. అయిన =

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

sin θ. cos θ = K sin θ + cos θ

k2

k2 − 1

√2k2 − 1

√1 + 2k

https://dl.doubtnut.com/l/_jI4jrHjfxtf9
https://dl.doubtnut.com/l/_AGouGTo7idEk


87. 

A. 0

B. infty

C. 1

D. can not be determined

Answer:

Watch Video Solution

sin2 47∘ + sin2 43∘ =

88. 

A. 

B. 

sec(360∘ − θ) =

cos θ

sec θ

https://dl.doubtnut.com/l/_VsLbuWQRYRmU
https://dl.doubtnut.com/l/_3NRmDY4mfHYy


C. 

D. 

Answer:

Watch Video Solution

cos ecθ

cot θ

89.  = …………….

A. 2

B. 1

C. 

D. 0

Answer:

+
1

sec2 A

1

cos ec2A

tan2 A + cos2 A

https://dl.doubtnut.com/l/_3NRmDY4mfHYy
https://dl.doubtnut.com/l/_lWXHkVtntCwq


Watch Video Solution

90. =

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

tan 240∘

1

√3

√3

−√3

−
1

√3

91. If , then sin θ =
1

2
cos( )

3θ

2

https://dl.doubtnut.com/l/_lWXHkVtntCwq
https://dl.doubtnut.com/l/_dymI8Y7eUnRj
https://dl.doubtnut.com/l/_6MZw2MSuUoHo


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

√2

√3

2

1

2

2

√3

92. If the angle in a triangle are in the ratio of 1:2:3, then the

smallest angle in radius is

A. 

B. 

C. 

π

3

π

6

2
π

3

https://dl.doubtnut.com/l/_6MZw2MSuUoHo
https://dl.doubtnut.com/l/_UmWjnBVpGXJm


D. 

Answer:

Watch Video Solution

π

2

93.  అయిన tan A

A. 3

B. 4

C. 1

D. 

Answer:

Watch Video Solution

sin A =
1

√2

√2

https://dl.doubtnut.com/l/_UmWjnBVpGXJm
https://dl.doubtnut.com/l/_DWGfegpZ1HXz


94.  అయిన A=

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

cos(A + B) = 0, cos B =
√3
2

60∘

180∘

15∘

115∘

95. 

A. 0

sin 180∘ =

https://dl.doubtnut.com/l/_DWGfegpZ1HXz
https://dl.doubtnut.com/l/_521WH5j8F8nI
https://dl.doubtnut.com/l/_BUTqU0flOn22


B. 1

C. -1

D. 

Answer:

Watch Video Solution

∞

96.  అయిన =

A. 

B. 

C. 

D. 1

cos θ =
1

2
cos θ/2

1

4

√3

2

1

2

https://dl.doubtnut.com/l/_BUTqU0flOn22
https://dl.doubtnut.com/l/_QB5IjA8hGcC4


Answer:

Watch Video Solution

97. 

A. cos 2A

B. cos 2B

C. sin 2A

D. sin 2B

Answer:

Watch Video Solution

sin(A + B). cos(A − B) + sin(A − B). cos(A + B) =

https://dl.doubtnut.com/l/_QB5IjA8hGcC4
https://dl.doubtnut.com/l/_2EY7vRdd5BRL


98. 

A. 

B. 1

C. 0

D. 

Answer:

Watch Video Solution

cos 300∘ =

√3

2

1

2

99. If  then A=

A. 

B. 

sin(A + B) = 1 sin B =
1

2

30∘

45∘

https://dl.doubtnut.com/l/_gAb65mX0GXPR
https://dl.doubtnut.com/l/_nwUzZEWcAI9M


C. 

D. 

Answer:

Watch Video Solution

60∘

90∘

100. If  then 

A. 

B. 

C. 

D. 

Answer:

√3 tan θ = 1 θ =

30∘

45∘

60∘

90∘

https://dl.doubtnut.com/l/_nwUzZEWcAI9M
https://dl.doubtnut.com/l/_sA3LAK2HvM4U


Watch Video Solution

101.  =

A. 

B. 

C. 0

D. 3

Answer:

Watch Video Solution

cos ec600 ∗ cos 900

∞

2

√3

102.  అయితే  విలువtan θ = √3 sec θ

https://dl.doubtnut.com/l/_sA3LAK2HvM4U
https://dl.doubtnut.com/l/_bNY0bjPSfjGk
https://dl.doubtnut.com/l/_sOFaPRpJWqXA


A. 2

B. -2

C. 4

D. 5

Answer:

Watch Video Solution

103. If  = 5, then 

A. -1

B. 1

C. 7

3 cot θ
5 sin θ − 3 cos θ

5 sin θ + 3 cos θ

https://dl.doubtnut.com/l/_sOFaPRpJWqXA
https://dl.doubtnut.com/l/_dVK6ZeO3BDRd


D. 0

Answer:

Watch Video Solution

104.  =……..

A. 1

B. 0

C. 8

D. 14

Answer:

Watch Video Solution

(1 + tan2 θ)cos2 θ

https://dl.doubtnut.com/l/_dVK6ZeO3BDRd
https://dl.doubtnut.com/l/_rPXBN8sQaaf8


105. =…………..

A. 2

B. -1

C. 3

D. -4

Answer:

Watch Video Solution

(sec2 θ − 1)(cos ec2θ − 1)

106.  =

A. 4

cot2 θ −
1

sin2 θ

https://dl.doubtnut.com/l/_rPXBN8sQaaf8
https://dl.doubtnut.com/l/_Ecyw6ibjfQOV
https://dl.doubtnut.com/l/_3VyepLYo4heU


B. -3

C. 2

D. 1

Answer:

Watch Video Solution

107. If  = , then  =……….

A. 1

B. -1

C. 3

D. 4

cos θ. sin θ
1

2
θ

https://dl.doubtnut.com/l/_3VyepLYo4heU
https://dl.doubtnut.com/l/_VzGjLrIK6R7C


Answer:

Watch Video Solution

108. If  = , then  in radian measure is……….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

cos θ −cos θ θ

πc

πc

2

πc

3

πc

7

https://dl.doubtnut.com/l/_VzGjLrIK6R7C
https://dl.doubtnut.com/l/_EVeEnC2CpwIk


109. If , then  = …………….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

sin A =
3

5
sin(90 + A)

4
5

5

4

1

3

2

3

110. =

A. 

B. 

√(sec θ + 1)(sec θ − 1)

cot θ

tan θ

https://dl.doubtnut.com/l/_025QjFLpx27m
https://dl.doubtnut.com/l/_M4VMJUemq6h8


C. 

D. 

Answer:

Watch Video Solution

cos θ

sin θ

111. =………

A. 

B. 1

C. 

D. 

Answer:

√sec2 θ − tan2 θ + cot2 θ

−cos θ

sec θ

cos ecθ

https://dl.doubtnut.com/l/_M4VMJUemq6h8
https://dl.doubtnut.com/l/_ycSpz0CDeffe


Watch Video Solution

112. =………….

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

cos 150∘

−
√3

2

−√3

−
1

2

113. sin2 75∘ + cos2 75∘ =

https://dl.doubtnut.com/l/_ycSpz0CDeffe
https://dl.doubtnut.com/l/_zWUjY9No9Pc8
https://dl.doubtnut.com/l/_6gYDqpz6Zh1r


A. 3

B. 2

C. 4

D. 1

Answer:

Watch Video Solution

114. =

A. 0

B. -1

C. 3

sin 240∘ + sin 120∘

https://dl.doubtnut.com/l/_6gYDqpz6Zh1r
https://dl.doubtnut.com/l/_Q53RHwzAqNJe


D. none

Answer:

Watch Video Solution

115.  అయిన =

A. -1

B. 2

C. 

D. 3

Answer:

Watch Video Solution

cos ecθ + cot θ = 2 cos ecθ − cot θ

1

2

https://dl.doubtnut.com/l/_Q53RHwzAqNJe
https://dl.doubtnut.com/l/_nuTpdCQKx3Ig


116. If sec A + tan A = 1/3, then sec A - tan A =…………

A. 4

B. 1

C. -3

D. 3

Answer:

Watch Video Solution

117. =………

A. 1

sin 30∘ + cos 60∘

https://dl.doubtnut.com/l/_nuTpdCQKx3Ig
https://dl.doubtnut.com/l/_JITL0lQ6fje6
https://dl.doubtnut.com/l/_34yEmjpuTviv


B. 4

C. 3

D. none

Answer:

Watch Video Solution

118. =…………

A. 1

B. 2

C. 4

D. none

(cos A + sin A)2 + (cos A − sin A)2

https://dl.doubtnut.com/l/_34yEmjpuTviv
https://dl.doubtnut.com/l/_A7LsDNTNO63R


Answer:

Watch Video Solution

119. =…………

A. 4

B. 3

C. -1

D. 1

Answer:

Watch Video Solution

sin 450∘

https://dl.doubtnut.com/l/_A7LsDNTNO63R
https://dl.doubtnut.com/l/_16ur6DOW6Nni


120. cos(A + B)=

A. cos A cos B - sin A sin B

B. cos A sec B - sin A sin B

C. cos A cos B + sin A sec B

D. none

Answer:

Watch Video Solution

121. =

A. 

B. 

tan(A − B)

tan A − cos B

tan B − tan A

https://dl.doubtnut.com/l/_ZjxtbE5xtvqi
https://dl.doubtnut.com/l/_uvINEzuMeeMB


C. 

D. none

Answer:

Watch Video Solution

tan B − tan A

1 + tan A + tan B

122.  = ……………..

A. 

B. 

C. 

D. 

Answer:

tan(360 − θ)

sin θ

sec θ

tan θ

−tan θ

https://dl.doubtnut.com/l/_uvINEzuMeeMB
https://dl.doubtnut.com/l/_4avy0lm5AHOd


Watch Video Solution

123. Find the value of 

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

tan 75∘

2 + √3

2 − √3

√3 − 1

124. =………….cos 110∘ . cos 70∘ − sin 110∘ . sin 70∘

https://dl.doubtnut.com/l/_4avy0lm5AHOd
https://dl.doubtnut.com/l/_FO0W26g9sOnY
https://dl.doubtnut.com/l/_bJTQjONvj7Lr


A. 4

B. 1

C. -1

D. 3

Answer:

Watch Video Solution

125. Express , interms of …….

A. 

B. 

C. 

tan θ sin θ

cos θ

1 − sin θ

sin θ

√1 − sin2 θ

sin θ

1 + cos θ

https://dl.doubtnut.com/l/_bJTQjONvj7Lr
https://dl.doubtnut.com/l/_KXE61d5NTYac


D. none

Answer:

Watch Video Solution

126. =………..

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

cos ec60∘ . sec 60∘

1

2

√3

4

4
3

4

√3

https://dl.doubtnut.com/l/_KXE61d5NTYac
https://dl.doubtnut.com/l/_suaoYfKGbUQz


127.  = …………..

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

cos(180 − θ)

−cos θ

cos θ

sec θ

128. sin 2A=…….

A. 2 sin A cos A

https://dl.doubtnut.com/l/_suaoYfKGbUQz
https://dl.doubtnut.com/l/_DSDxOOnr4svi
https://dl.doubtnut.com/l/_uTfZVYZTsRol


B. cos A sin A

C. 

D. 

Answer:

Watch Video Solution

sin2 A

cos2 A

129.  =

A. 

B. 

C. 

D. 

√cos ec2θ − sin2 θ − cos2 θ

−tan θ

−sin θ

sec θ

cot θ

https://dl.doubtnut.com/l/_uTfZVYZTsRol
https://dl.doubtnut.com/l/_ywmZFlCqetQd


Answer:

Watch Video Solution

130. Evaluate the following : 

A. 3

B. -1

C. 4

D. 1

Answer:

Watch Video Solution

(sec2 θ − 1)(cos ec2θ − 1)

https://dl.doubtnut.com/l/_ywmZFlCqetQd
https://dl.doubtnut.com/l/_9m87FEfOXwKY


131. =………

A. 1

B. 4

C. -1

D. none

Answer:

Watch Video Solution

2sin 45∘ . cos 45∘

132. If  = x, then =……….

A. 

B. 

cot θ cos ecθ

√2x + 1

√1 + x

https://dl.doubtnut.com/l/_lOnb05s5EmZz
https://dl.doubtnut.com/l/_alhQDScDsfFu


C. 

D. none

Answer:

Watch Video Solution

√x2 + 1

133. In the figure, AB=………

A. 

B. 

C. 

16√3

10√3

9√3

https://dl.doubtnut.com/l/_alhQDScDsfFu
https://dl.doubtnut.com/l/_cdau1Tztrn8I


D. 

Answer:

Watch Video Solution

20√3

134. =…………

A. 2

B. -2

C. 3

D. none

Answer:

Watch Video Solution

sin 45∘ . cos 45∘ + √3sin 60∘

https://dl.doubtnut.com/l/_cdau1Tztrn8I
https://dl.doubtnut.com/l/_ma55ql1GccTo


135.  = ……………

A. sec A

B. 

C. cos A

D. sin A

Answer:

Watch Video Solution

√sec2 A − 1

sec A

−cos A

136. If  and , then  =

…………………

α + β = 90∘ α = 2β cos2 α + sin2 β

https://dl.doubtnut.com/l/_ma55ql1GccTo
https://dl.doubtnut.com/l/_QgqHcIpAGWr8
https://dl.doubtnut.com/l/_MYcZpaJ1CeS7


A. 

B. -1

C. 2

D. 

Answer:

Watch Video Solution

−
1

2

1

2

137. =………..

A. 

B. 

C. 

tan 30∘ + cot 30∘

4

√3

4
3

√3

4

https://dl.doubtnut.com/l/_MYcZpaJ1CeS7
https://dl.doubtnut.com/l/_VBZvfG0inbWy


D. none

Answer:

Watch Video Solution

138.  అయిన =

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

sin θ =
a

b
tan θ

a

√b2 + 1

b

√a2 − b2

a

√a2 + b

a

√b2 − a2

https://dl.doubtnut.com/l/_VBZvfG0inbWy
https://dl.doubtnut.com/l/_IwsRJXPD9Wkh


139.  అయిన =

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

tan θ =
1

√3
cos θ

√3
2

√3

2

√3

1
2

140. 5 sin A = 3 అయిన =

A. 3

sec2 A − tan2 A

https://dl.doubtnut.com/l/_IwsRJXPD9Wkh
https://dl.doubtnut.com/l/_cLkwIHtROcmB
https://dl.doubtnut.com/l/_4GwgiOJLD984


B. -1

C. 4

D. 1

Answer:

Watch Video Solution

141. =

A. 

B. 

C. 

D. 

sin( − θ)

cos θ

−tan θ

sec θ

−sin θ

https://dl.doubtnut.com/l/_4GwgiOJLD984
https://dl.doubtnut.com/l/_bKMhZaKfS9R9


Answer:

Watch Video Solution

142. =…………

A. 

B. 

C. 

D. 1

Answer:

Watch Video Solution

cos( − θ)

sec θ

−cos θ

cos θ

https://dl.doubtnut.com/l/_bKMhZaKfS9R9
https://dl.doubtnut.com/l/_ySg7cfxOdb6m


143.  = ……………..

A. 

B. 

C. 

D. 0

Answer:

Watch Video Solution

sin(180 − θ)

cos θ

sin θ

tan θ

144.  = ……………..

A. 

B. 

cos ec(270 − θ)

cos θ

sin θ

https://dl.doubtnut.com/l/_4EErSwoWSYjI
https://dl.doubtnut.com/l/_8bfplNePGuRW


C. 

D. none

Answer:

Watch Video Solution

−sin θ

145.  = ……………..

A. 

B. 

C. 

D. 

Answer:

tan(360 − θ)

−tan θ

tan θ

sec θ

cos θ

https://dl.doubtnut.com/l/_8bfplNePGuRW
https://dl.doubtnut.com/l/_4svWIMO9zz0O


Watch Video Solution

146.  = ……………..

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

cos ec(270 − θ)

sec θ

−sec θ

tan θ

147.  = ………….sec(90 + θ)

https://dl.doubtnut.com/l/_4svWIMO9zz0O
https://dl.doubtnut.com/l/_RDbYlU6RaGBq
https://dl.doubtnut.com/l/_7X4FFMX1FmzW


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

tan θ

cos ecθ

−cos θ

−cos ecθ

148. Value of 

A. 

B. -1

C. 

cos 240∘ =

−
1

2

2

3

https://dl.doubtnut.com/l/_7X4FFMX1FmzW
https://dl.doubtnut.com/l/_JUxG02L6DFRQ


D. -3

Answer:

Watch Video Solution

149. =………..

A. 3

B. -1

C. 2

D. -2

Answer:

Watch Video Solution

sec 240∘

https://dl.doubtnut.com/l/_JUxG02L6DFRQ
https://dl.doubtnut.com/l/_cqPEjKyHbVDc


150. 

A. 1

B. -1

C. 3

D. none

Answer:

Watch Video Solution

sin2 47∘ + sin2 43∘ =

151. If  = 4, then =…………..

A. 1

cos ecθ − cot θ cos ecθ + cot θ

https://dl.doubtnut.com/l/_cqPEjKyHbVDc
https://dl.doubtnut.com/l/_TKljAEV59MSj
https://dl.doubtnut.com/l/_1ZbaLINpnXKm


B. 

C. 

D. 

Answer:

Watch Video Solution

1

2

−
1

4

1

4

152. The value of  in terms of  is…………

A. 

B. 

C. 

D. none

tan θ cos ecθ

1

√cos ec2θ − 1
1

√1 + cos ecθ

1

1 + tan2 θ

https://dl.doubtnut.com/l/_1ZbaLINpnXKm
https://dl.doubtnut.com/l/_nZGb0sxEOOzL


Answer:

Watch Video Solution

153. =

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

cos ec2θ/cot θ − cot θ

cot θ

sec θ

tan θ

https://dl.doubtnut.com/l/_nZGb0sxEOOzL
https://dl.doubtnut.com/l/_wAcFAQU3puz9


154.  = ……………

A. -2

B. 

C. 1

D. 

Answer:

Watch Video Solution

1 − tan2 30∘

1 + tan2 30∘

−
1

2

1

2

155. =

A. -1

B. 1

+ c2A
1

sec2 A

1

cos e

https://dl.doubtnut.com/l/_aZptfIKR3DD6
https://dl.doubtnut.com/l/_FSq6DSdC3yeu


C. 3

D. 4

Answer:

Watch Video Solution

156.  . X అయిన x =

A. 

B. 

C. 

D. `none

Answer:

tan θ. cot θ = sec θ

cos θ

−cos θ

tan θ

https://dl.doubtnut.com/l/_FSq6DSdC3yeu
https://dl.doubtnut.com/l/_NyDR2rGmxqQE


Watch Video Solution

157.  అయిన A విలువ

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

sin(A + B) = , cos B =
√3

2

√3

2

70∘

45∘

60∘

30∘

158. If  =  then find  value.sec θ + tan θ
1

2
sin θ

https://dl.doubtnut.com/l/_NyDR2rGmxqQE
https://dl.doubtnut.com/l/_fnfklEL34lps
https://dl.doubtnut.com/l/_0exT82kSVJzE


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2

13

1

13

12

13

13

2

159.  అయిన  విలువ

A. 

B. 

C. 

sec θ = cos ecθ θ

πc

2

πc

4

πc

3

https://dl.doubtnut.com/l/_0exT82kSVJzE
https://dl.doubtnut.com/l/_8WFyBbi1MZwY


D. 

Answer:

Watch Video Solution

πc

12

160. Maximum value of =………

A. 3

B. 

C. 2

D. 

Answer:

Watch Video Solution

sin θ + cos θ

√3

√2

https://dl.doubtnut.com/l/_8WFyBbi1MZwY
https://dl.doubtnut.com/l/_kKs0UzRFMGKf


161. Maximum value of =……….

A. 1

B. -1

C. 2

D. 0

Answer:

Watch Video Solution

cos θ

162. Minimum and maximu value of =……….

A. 

tan θ

( − ∞, ∞)

https://dl.doubtnut.com/l/_kKs0UzRFMGKf
https://dl.doubtnut.com/l/_qDMT3GsEz2K8
https://dl.doubtnut.com/l/_ZQgZBXoCKWa4


B. 

C. (3, 2)

D. (1, -1)

Answer:

Watch Video Solution

( − ∞, 0)

163. Find the value of 

A. 2

B. -1

C. 1

D. none

sin4 θ − cos4 θ

sin2 θ − cos2 θ

https://dl.doubtnut.com/l/_ZQgZBXoCKWa4
https://dl.doubtnut.com/l/_ZFnNBpfdq4Yu


Answer:

Watch Video Solution

164. =………..

A. -1

B. -4

C. 1

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ZFnNBpfdq4Yu
https://dl.doubtnut.com/l/_CaePjAJE5SSp


165. 

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

√sec2 θ − 1

sec θ

−tan θ

cos θ

sin θ

166. If  then tan A=

A. 4

sin A =
1

√2

https://dl.doubtnut.com/l/_CaePjAJE5SSp
https://dl.doubtnut.com/l/_BfeR6ksSU3z6
https://dl.doubtnut.com/l/_qOj1jySejI9x


B. 3

C. -1

D. 1

Answer:

Watch Video Solution

167.  is not defined when  is

A. 

B. 

C. 

D. 

tan θ θ

0∘

70∘

90∘

20∘

https://dl.doubtnut.com/l/_qOj1jySejI9x
https://dl.doubtnut.com/l/_OdfP1HVmHNhv


Answer:

Watch Video Solution

168. If  then find 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

cos ecθ = ,
25

7
cot θ

4
7

7
24

4
23

24
7

https://dl.doubtnut.com/l/_OdfP1HVmHNhv
https://dl.doubtnut.com/l/_YXKCoB7mfCbP


169. Evaluate 

A. 1

B. -1

C. 3

D. 7

Answer:

Watch Video Solution

tan 26∘ tan 64∘

170. If  where 2A is an cute angle

then A = …………..

tan 2A = cot(A − 18∘ )

https://dl.doubtnut.com/l/_hkBNeXKZZwGe
https://dl.doubtnut.com/l/_jrMe3S1v9msx


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

116∘

20∘

16∘

36∘

171.  = ……………..

A. 

B. 

C. 

sin(90 − ϕ)

cos ϕ

sin ϕ

−cos ϕ

https://dl.doubtnut.com/l/_jrMe3S1v9msx
https://dl.doubtnut.com/l/_sV9RCgx5fApB


D. 0

Answer:

Watch Video Solution

172. In ,  = …………….

A. 

B. 

C. 

D. 1

Answer:

Watch Video Solution

△ ABC sin( )
B + C

2

cos( )
A

2

cos( )
C

2

tan( )
A

2

https://dl.doubtnut.com/l/_sV9RCgx5fApB
https://dl.doubtnut.com/l/_OSzMzlk7vXhc


173. Evaluate 

A. -3

B. 8

C. 4

D. 1

Answer:

Watch Video Solution

sec 35∘

cos ec55∘

174. 

A. 2

sin + cos 45∘πc

4

https://dl.doubtnut.com/l/_OSzMzlk7vXhc
https://dl.doubtnut.com/l/_VRB2t5AplPh6
https://dl.doubtnut.com/l/_FafpmcX5umOX


B. 

C. -1

D. 0

Answer:

Watch Video Solution

√2

https://dl.doubtnut.com/l/_FafpmcX5umOX


175. From the figure, sin C =………..

A. x/z

B. z/x

C. y/z

D. none

https://dl.doubtnut.com/l/_74iKwvjLBUOK


Answer:

Watch Video Solution

176.  is not defined if  = …………….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

sec θ θ

0∘

90∘

30∘

45∘

https://dl.doubtnut.com/l/_74iKwvjLBUOK
https://dl.doubtnut.com/l/_T8uvf4e7nJ9U


177.  = …………..

A. 1

B. 10

C. 16

D. 12

Answer:

Watch Video Solution

(1 + tan2 60)
2

178. Reciprocal of  = ………….

A. sin A

B. 

cot A

sin2 A

https://dl.doubtnut.com/l/_3d2PeJYpMwYI
https://dl.doubtnut.com/l/_JyEvd02kKYy6


C. 

D. tan A

Answer:

Watch Video Solution

sec2 A

179. Trigionometry was introduced by ………..

A. Cantor

B. Cayley

C. Hipparchus

D. none

Answer:

https://dl.doubtnut.com/l/_JyEvd02kKYy6
https://dl.doubtnut.com/l/_FmIDN09JW0vZ


Watch Video Solution

180. If  then  = ……………

A. 4

B. 3

C. -1

D. 1

Answer:

Watch Video Solution

tan A =
3

4
sec2 A − tan2 A

https://dl.doubtnut.com/l/_FmIDN09JW0vZ
https://dl.doubtnut.com/l/_YJMD52BrmEjk


181. In the figure tan X =………

A. 

B. 

C. 

D. 

8

5

15

8

11

3

12

7

https://dl.doubtnut.com/l/_SBSFMY5lt8DH


Answer:

Watch Video Solution

182. From the adjacent figure,  = 29/21 represents


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

c

a

cos θ

cos ecθ

cot θ

sin θ

https://dl.doubtnut.com/l/_SBSFMY5lt8DH
https://dl.doubtnut.com/l/_48j3dihb1c6J


183. From the adjacent figure, value of 


A. 

B. 

C. 

D. 1

Answer:

Watch Video Solution

sin2 A + cos2 A

1

√2

1

2

√3

2

184. In a right angled triangle ABC, right angled at B, 

= , AB = 12 cm and BC = 5 cm. 

∠ACB

θ

https://dl.doubtnut.com/l/_aQvilDW3HIN4
https://dl.doubtnut.com/l/_dGaOtnUHQUDY


Find the value of  and .


Watch Video Solution

cos θ tan θ

185. Express  interms of angles between 0

and 

Watch Video Solution

sin 75∘ + cos 67∘

45∘

186. Show that = .

Watch Video Solution

+
1 + cos θ

sin θ

sin θ

1 + cos θ
2 cos ecθ

187. If  = a/b find  in terms of a and b.cos θ cos ecθ + cot θ

https://dl.doubtnut.com/l/_dGaOtnUHQUDY
https://dl.doubtnut.com/l/_RwBfBGpGVe1N
https://dl.doubtnut.com/l/_3kt5KBU7lklX
https://dl.doubtnut.com/l/_6vQSQeUvZUJv


Watch Video Solution

188. =……...

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

√sec2 θ + cos ec2θ

tan θ + cot θ

tan θ − cot θ

tan θ

sec θ

189. =……...+
cos θ

1 − tan θ

sin θ

1 − cot θ

https://dl.doubtnut.com/l/_6vQSQeUvZUJv
https://dl.doubtnut.com/l/_AtTTwFewwTz7
https://dl.doubtnut.com/l/_Hvndj1KdUI4s


A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

sec θ − tan θ

cos θ − sin θ

cos θ + sin θ

190. =………….

A. 

B. 

C. 

sin θ − 2 sin3 θ

2 cos3 θ − cos θ

3 cos θ

cos θ

sec θ

https://dl.doubtnut.com/l/_Hvndj1KdUI4s
https://dl.doubtnut.com/l/_ecx8vUAhlIJ7


D. 

Answer:

Watch Video Solution

tan θ

191. =…………

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

sec2 θ + cos ec2θ

sec2 θ. cos ec2θ

cos2 θ. tan2 θ

−cos2 θ

https://dl.doubtnut.com/l/_ecx8vUAhlIJ7
https://dl.doubtnut.com/l/_KHrAI3ZvChKc


192. =…………

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(cos ecθ − cot θ)

1 + cos θ

1 − cos θ

1 − cos θ

1 + cos θ

sin θ

1 + cos θ

1 − cos θ

2

193.  =

A. 

1/sec θ − tan θ

sec θ + tan θ

https://dl.doubtnut.com/l/_KHrAI3ZvChKc
https://dl.doubtnut.com/l/_F92fxPyauLtp
https://dl.doubtnut.com/l/_M8OEMNKDvwri


B. 

C. 1

D. -1

Answer:

Watch Video Solution

sec θ − tan2 θ

194. =………...

A. 

B. 

C. 

D. 

tan2 θ

1 + tan2 θ

sin2 θ + 1

sin3 θ

sin θ

sin2 θ

https://dl.doubtnut.com/l/_M8OEMNKDvwri
https://dl.doubtnut.com/l/_tDZWyzDQzEcj


Answer:

Watch Video Solution

195. The value of  is…………

A. 1

B. 0

C. 3

D. 4

Answer:

Watch Video Solution

sin 29∘ − cos 61∘

https://dl.doubtnut.com/l/_tDZWyzDQzEcj
https://dl.doubtnut.com/l/_MJ4Sg9uglTyt


196. The value of  is

A. 3

B. 1

C. 0

D. 4

Answer:

Watch Video Solution

cos2 17∘ − sin2 73∘

197. The value of =………..

A. 4

B. 1

sec 70∘ . sin 20∘ + cos 20∘ . cos ec70∘

https://dl.doubtnut.com/l/_ZrOmkpfHyOxF
https://dl.doubtnut.com/l/_ujvY7XH6vTbK


C. -2

D. 2

Answer:

Watch Video Solution

198. The value of ……….tan 89

A. 1

B. -2

C. 3

D. 7

Answer:

tan 1∘ . tan 2∘ . tan 3∘

https://dl.doubtnut.com/l/_ujvY7XH6vTbK
https://dl.doubtnut.com/l/_xwNrKru83tEn


Watch Video Solution

199. In ,  = ………….

A. tan A

B. sin A

C. 

D. 

Answer:

Watch Video Solution

△ ABC tan( )
B + C

2

cot( )
A

2

cos( )
A

2

200.  = ………………− 1
sin(90 − θ)sin θ

tan θ

https://dl.doubtnut.com/l/_xwNrKru83tEn
https://dl.doubtnut.com/l/_I9U61KNBAihM
https://dl.doubtnut.com/l/_ZVmM7MPPYfBs


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1 − sin θ

−cos2 θ

sin θ

−sin2 θ

201. The value of 

=………….

A. 4

B. 1

C. 0

cos 1∘ . cos 2∘ . cos 3∘ ............cos 180∘

https://dl.doubtnut.com/l/_ZVmM7MPPYfBs
https://dl.doubtnut.com/l/_dZachOlzyzop


D. none

Answer:

Watch Video Solution

202. =………

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

tan 5∘ × tan 30∘ × 4tan 85∘

4

√3

√3

2

1

2

√3

7

https://dl.doubtnut.com/l/_dZachOlzyzop
https://dl.doubtnut.com/l/_jP6Y9KOltYL3


203.  = …………….

A. 3

B. 4

C. 1

D. none

Answer:

Watch Video Solution

1 − tan2 45∘

1 + tan2 45∘

204. , then A and B are ………………. Angles.

A. suplementary

sec A = cos ecB

https://dl.doubtnut.com/l/_jP6Y9KOltYL3
https://dl.doubtnut.com/l/_V6tbpnGeER9b
https://dl.doubtnut.com/l/_Ntv19RvQSm1G


B. complementary

C. acute

D. 0

Answer:

Watch Video Solution

205. =……….

A. 

B. 

C. 

D. none

sec4 A − sec2 A

tan4 A + tan2 A

tan4 A

1 − tan4 A

https://dl.doubtnut.com/l/_Ntv19RvQSm1G
https://dl.doubtnut.com/l/_utnAzrpB9wNn


Answer:

Watch Video Solution

206. If 

A. 4

B. 3

C. -1

D. 1

Answer:

Watch Video Solution

sin θ + sin2 θ = 1,  then cos2 θ + cos4 θ =

https://dl.doubtnut.com/l/_utnAzrpB9wNn
https://dl.doubtnut.com/l/_fWCfmTPYZzIn


207. If = 1/2, then …………

A. 1

B. √2

C. √3

D. 2

Answer:

Watch Video Solution

sin θ cot θ

208. If , then B=……………..

A. 

B. 

tan(15∘ + B) = √3

60∘

45∘

https://dl.doubtnut.com/l/_sqHpdsW8V3sK
https://dl.doubtnut.com/l/_DpabrASJtfdK


C. 

D. none

Answer:

Watch Video Solution

15∘

209. If  = 1, then  =………

A. 1

B. 

C. 

D. 

Answer:

tan θ cos θ

1

2

√2

1

√2

https://dl.doubtnut.com/l/_DpabrASJtfdK
https://dl.doubtnut.com/l/_yfSV12WjnwPH


Watch Video Solution

https://dl.doubtnut.com/l/_yfSV12WjnwPH

